FH7EHEE EAMNTEREREREHOGFRESE

[E & &
X ba) #l xr DTV <IRIER
B EE2||%) N3 (1)
DEEIRE 1ASEIZD 23,550 M A o
7 % == P (2)
ASA | RITEEES —RRER43HM (V1 T R DEEE0M)
B —4350H8= M (a)
B&h : S SESE—ERIERA3HA ( B r )
e [ —435M@= M(b)
PhiSEIER CA : S EE%E —BRIEIR4A3M ( Bt )
B —4350H8H= M(c)
: PRl ERES (3)
&t (atbtc+: ) B X831/100= M
& & | 1EmEoREE (EE L. 660000MNREETY) |WT@E =
X FEOERTIAURBERZBSZIND TSHEIT DS
1 FREDIRIEE (4) B X /128 = FEl)l(jafS;Eﬁt -
1 s T
[ 8 & 9] 3D, BEEDEARTT, )
X ba) =l R DTV I <ARFER
©)
S s 4=
19 E4E 1ALz 9,590 M A Pa
- = 7)
A/ AT ES —ERER4SHA (V1T ACE2BaE0M)
B —4335H= M@
B&h  AFESES—ERIERA3HA ( B )
o M —435M= M)
PIfSEIER CEA | HIEEEE% — RER43HA ( B )
B —4335H= M)
: g Eap S 8)
£t (atb+c+ ) B X340/100= s
~ = . o 9=6)+(7)+8)
8 st 1EEORER (22U, 260,000HNRESETI) e
X FEODRTIHAURBRZRBEID THET DIHS
1 FREDORER Q) B X /128 = A0
LA e T e i o e e 10MKBLIBT
(EED+2EED) OpBEI5EEE<AE (UFLI%E1 T EEIZE)
X D 1A 2 A 3 A 4 N 5A 6 A
EARE 71,3600 |104,5008[137,640M8[170,780M|203,9208[237,060M
[ji_‘ EE 2 IREFZDEE. WREBDSHA0REMU LECSFEKRBTDOBICIRDZFET, )
X ba) =l R DTV I <ARFER
E ferad2NE N (1 1)
19 E4E 1AHZD 9,620 M A m
[T & % A/ 4= (12)
ASh . RITEREE— BRERASHE (V1 T ACEDESIZ0M)
B —4335H= M@
N B A : (SRS —ERIERA3HA ( m )
Ph1SEI%8E g —43/8= M)
: g Ealp S 13)
£t (atb+ ) B X290/100=
& i | 1EmoREE (ZEL. 170000MnREETy) |92 =
X FEODRTIHAURBRZRBEID THET DIHS
1 FREORER (14) B X /128 = Pﬂ(g?%mr
- _ 10K £TC
NE OISR ERHE (D5LEE+ S5
X D 1A 2 A 3 A PN 5A 6 A
EARE 17,0108 | 27,6300 | 37,1500 | 46,770 | 56,390 | 66,0100
(= VL)
EED wxae] | [xEED  9xE0| | [NEn (4xEi5] _[& &
M M =1 A




